(AAB)ACF (AAB)AC

(AAB)ACH(AAB)AC (AAB)ACHAAB (AAB)ACH(AAB)AC
(AEL) (AER) (AER)
(AAB)ACHAAB (AEL) (AAB)ACFB (AAB)ACHKC Al
(AAB)ACH A (AAB)ACEFBAC

(A1)
(AAB)ACHFAA (BAC)

(—1)
- (AAB)AC — AA(BAC)
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ANB—C, A, BFAAB—C AANB—C, A, BFAAB (E) (M) A—-B—C, AABFA—-B—C A—-B—C, AABFA (_E/E\)EL) A—-B—C, AABFAAB (AER)
AANB—C, A, BFC (1) A—-B—C, AABFB—C A—-B—C, AABFB (LE)
ANB—C, AFB—C (1) A—-B—C, AANBFC (1)
AANB—-CHA—-B—C (1) A—-B—CFHAAB—C (1)
-(AAB—C)— (A—B—C) -(A—-B—C)— (AANB—C)

(A1)
-(AAB—C) <« (A—B—C)


fr.chachatelier.pierre.LaTeXiTfr.chachatelier.pierre.LaTeXiTAV(BAC),BACFBAC (AEL) AV(BAC),BACFBAC (AER) (AVB)A(AVC),B,CHB (AVB)A(AVC),B,CkHC Al
AV(BAC), A A AV(BAC), A A AV (BAC),BACFB AV (BAC),BACHFC (AVB)A(AVC),BF(AVB)A(AVC) (AVB)A(AVC),B, A A (AVB)A(AVC),B,CHFBAC
(VIL) (VIL) (VIR) (VIR) (AER) (VIL) (VIR)
AV(BAC),AFAVB AV (BAC),AFAVC Al AV(BAC),BACHAVB AV(BAC),BACFAVC A (AVB)A(AVC)F (AVB)A(AVC) (AEL) (AVB)A(AVC),AF A i) (AVB)A(AVC),BFAVC (AVB)A(AVC),B,AFAV (BAC) (AVB)A(AVC),B,CHAV (BAC) (VE)
AV(BAC)FAV (BAC) AV(BAC),AF(AVB)A(AVC) AV(BAC),BACH (AVB)A(AVC) (VE) (AVB)A(AVC)HAVB (AVB)A(AVC),AFAV (BAC) (AVB)A(AVC),BFAV (BAC) (VE)
AV(BAC)F(AVB)A(AVC) 1) (AVB)A(AVC)FAV (BAC) 1)
FAV(BAC)— (AVB)A(AVC) F(AVB)A(AVC) - AV (BAC)

(A1)

AV (BAC) < (AVB) A (AVC)


fr.chachatelier.pierre.LaTeXiTfr.chachatelier.pierre.LaTeXiT~(AVE), AFA ~(AVE),BFB o —~AA—B, AVB, Al —AA—B ~AA—B, AVB, B —AA B

EL ER
—(AVB), A —~(AVB) —(AVB),A-AVB —(AVB),BF —~(AVB) —(AVB),BFAVB —AA—-B,AVB, AF —A (NEL) ~AA—-B,AVB, AFA —AA—B,AVB, BF —B (NER) —AA—-B,AVB, BB
(—E) (—E) (—E) (—E)
~(AVB), A L n —~(AVB),BF L . “AAN-B AVBFAVB —AA-B,AVB, Al | —AA-B,AVB,BF | e
—(AVB)F —-A —(AV B) - —B A -AA-B,AVBF L (1)
—~(AVB) F —A A —B o —~AA-BF —(AVB) .
s o
--(AVB) - AN B - —AA—B — —=(AVB)

(A1)

- -(AVB) < -AA-B
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—(AV—A), AF—(AV—-4)  —(AV-A), AFAV-A
~(AV—-A), A L
—~(AV —A) F —A

(VIL)
(—E)

(—1)
(VIR)

—~(AV —A) F (A V —A) —~(AV —A) F AV —A

(—E)
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PROVE| I'bnj ¥

PROOF € (—1)
Lory =0 (=) d (AEL)
I'-p—v—19v ['-o d
TFo—0 B8y WER)
(—E)



fr.chachatelier.pierre.LaTeXiTfr.chachatelier.pierre.LaTeXiTVx.Px)A(Vx.Qx)F (Vx. Px) A (Vx. Q x) Vx.Px)A(Vx.Qx)F (Vx. Px)A (Vx. Qx)

Vx.PxAQxFVx. PxAQx Vx.PxAQxFVx.PxAQx AEL AER
V. PxAQxFPxAQX (/\I(Evl_f) V. PxAQxFPxAQX (/\I(EVRE)) (Vx. Px)A(Vx. Qx)FVx. Px (VE) e (Vx.Px)A(Vx. Qx)FVx. Qx (VE) ER)
Vx. PxAQxFPx ) Vx. PxAQxFQx () (V. Px)A(Vx. Qx)FPx (Vx. Px)A(Vx. Qx)FQx (A1)
Vx.PxAQxFVx. Px Vx.PxAQxFVx. Qx (D Vx.Px)A(Vx.Qx)FPXAQX o)
Vx.PxAQxF (Vx.Px)A (Vx. Q x) (1) Vx.Px)A(Vx.Qx)FVx.PxAQx (1)
F(Vx.PxAQx)— (Vx. Px) A (Vx. Q x) F(Vx.Px)A(Vx.Qx)— (Vx. PxAQX)

F(Vx.PxAQx) < (Vx. Px)A(Vx. Q %)


fr.chachatelier.pierre.LaTeXiTfr.chachatelier.pierre.LaTeXiT(dx.Px) =+ Q, PxFPx €) Vx.Px—Q, dx.Px, PxFHFVx.Px—Q

(dx.Px) —»Q, PxF (dx. Px) = Q (dx.Px) > Q, PxFdx. Px (LE) Vx.Px—Q Jx.Px Px Px—Q (VE) Vx. Px—Q Jx.Px PxlIPx i
(dx.Px) —>Q, PxFQ (1) Vx.Px—Q, dx. PxFdx. Px Vx.Px—Q, dx.Px, PxHQ (36) (=E)
(I3x.Px) - QFPx—Q o) Vx.Px—Q, 3x. PxFQ ()
(dx.Px) > QFVx.Px—Q ) Vx.Px—QF (dx. Px) = Q 1)
F((dx.Px) - Q) > Vx.Px—Q F(Vx.Px—Q) — (dx.Px) —>Q

- ((dx. Px) > Q) < (Vx. Px — Q)


fr.chachatelier.pierre.LaTeXiTfr.chachatelier.pierre.LaTeXiT1x.Px, Vx.~(Px), PxFVx. —(P x) (VE)
1x.Px, Vx. (P x), PxF (P x) Jdx.Px, Vx.-(Px), PxFPx

(—E)
Jdx.Px, Vx.»(Px)Fdx.Px Jdx.Px, Vx.-(Px), PxF L

(3E)
1x.Px, Vx.-(Px)F L

1x.PxF —(Vx.=(P x))
- (dx.P x) = ~(Vx. (P x))

(—=1)

(—=1)
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HA + addition/

HA F zero + zero = zero

(VE)

HA, x+ zero = x I congruence

_ (VE)
HA, x + zero = x |- transitivity E HA, x + zero = x - additionS (VE) HA, x4+ zero =xF Vy.x+ zero =y — suc (x + zero) = suc y (vE)
HA, x+zero=xFVy.Vz.sucx+zero=yAy=z— suc x+ zero =z (VE) (VE) HA, x4+ zero=xF Vy.suc x+y =suc (x+7y) (VE) HA, x4+ zero = xF x4 zero = x — suc (x + zero) = suc x HA, x+zero=xF x4+ zero =x
HA, x + zero = x F Vz.suc x 4+ zero = suc (x + zero) A suc (x + zero) = z — suc x + zero =z (vE) HA, x + zero = x I suc x 4 zero = suc (x + zero) HA, x + zero = x I suc (x + zero) = suc x Al

HA, x4 zero = x I suc x 4+ zero = suc (x + zero) A suc (x + zero) = suc x — Suc X + zero = suc X

HA, x4 zero = x I suc x 4+ zero = suc (x + zero) A suc (x + zero) = suc x

HA, x4+ zero = x I suc x + zero = suc x

HA F x4+ zero=x — suc x + zero = suc x

(—=1)

HAFVx.x+ zero=x — suc x + zero = suc x

(V1)

HA F inductiony zero=x, x

HA F (zero + zero = zero) A (Vx.x + zero = x — suc x + zero = suc x)

E
HAFVx.x4+ zero=x (—E)

(A1)

(—E)

(—E)
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